CALCULUS: 6raphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy
Chapter 9: Error and Series

What you'll Learn About
How to find the error for a series that alternates
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Use the alternate estimation theorem to(find a formula Yor the error bound
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Summary of Error Bound

For an Alternating Series — Use the next term

For a series that is Not Alternating

1. Write down the formula for the next derivative.

2. Find the value of the next derivative at the ends of the interval and the
center.

3. Whichever value is bigger is the value you use to build your error
bound term
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